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Logic Problem 2 

• Clue 1, pretty straightforward, Charlie did not attend Arkansas Baptist 
• Clue 2, Walter was not in the '70s Band (but either Walter or the band member is a 

Tougaloo grad 
• Clue 3, Langston didn't graduate the Colored 400 member and also didn't 

graduate Walter, who was not in the Colored 400 (as far as research shows) which, 
on the grid, should leave Walter as the founder of the Harlem Boy's Choir 

• Walter, the Boy's Choir founder, did not attend Langston (Clue 3) so Langston is 
not connected to the Boy's Choir, leaving the '70s band member as the Langston 
alumnus 

• Now, looking at the grid ('70s band member went to Langston) and referring back 
to Clue 2 (which was an “either/or” clue) Walter went to Tougaloo (since the band 
member didn’t) 

• The grid only leaves Langston for Charlie, which leaves Arkansas Baptist for 
William 

• We know Walter is Tougaloo and Walter is Boy's Choir so Tougaloo = Boy's Choir 
and by default, Arkansas Baptist educated the "Colored 400" member (and ABC 
educated William, so William in "Colored 400".... 

 


